Fundy Geological Museum: Fossil Trackways

Parrsboro, Nova Scotia is the home to some of the smallest known dinosaur footprints. They are
likely from a theropod dinosaur. Theropod dinosaurs include T. rex and Velociraptor. These footprints
may have belonged to a juvenile Coelophysis, a theropod dinosaur that roamed Nova Scotia 200 million
years ago. In this activity you will use the above image along with a trackway you make yourself, to learn
about the relationship between trackways and the size of the dinosaurs that made them.

Activity 1- How big were the smallest dinosaurs?
Scientists have extrapolated formulas to help estimate the size of dinosaurs based on the size of their

footprints. Using the picture below, determine how big the dinosaurs were that left behind fossil
footprints in Nova Scotia.

+ Step 1 Multiply the length of the footprint by 4 to get the hip height.

» Step 2 Multiply the length of the footprint by 10 to get the head-to-tail length

Foot length : 1.75cm

Stride length: 6cm

Image: Smallest known dinosaur footprints, from near Parrsboro, Nova Scotia.
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Footprint length Multiplied times 4 Equals the Hip Height
X4
Footprint length Multiplied times 10 Equals the Dinosaur Length
X 10

Activity 2 - How big is the dinosaur from your trackway?
e Use attached Dinosaur Footprints of NOVA SCOTIA worksheet starting on page 5 to make a

trackway.
Footprint length Multiplied times 4 Equals the Hip Height
X4
Footprint length Multiplied times 10 Equals the Dinosaur Length
X 10
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Using the information above, was the dinosaur o
from the trackway you made smaller, bigger, or \/_\/
about the same size as you? i A
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Activity 3- Running or walking?
Scientists have extrapolated formulas to help estimate whether or not a dinosaur was walking, trotting,
or running based on a ratio of stride lengths to hip heights.

- Step 1 Determine the length of a dinosaur footprint. Measure the length
from the back of the heel to the tip of its center claw.

« Step 2 Multiply the length of the footprint by 4 to get the hip height.

« Step 3 Determine the stride length, distance between one “left footprint”
and the next “left footprint”.

- Step 4 Calculate ratio to determine relative rate of dinosaur movement,
divide the stride length by the hip height. Keep in mind: that when you are
running, your stride is longer.
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o Iftheratioislessthan 2.0, the dinosaur was walking
o Iftheratiois between 2.0 and 2.9, the dinosaur was trotting

o Iftheratiois greater than 2.9, the dinosaur was running
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Was the smallest dinosaur running or walking?

Footprint length Multiplied times 4 Equals the Hip Height

X4

Stride length Hip Height Equals Ratio

Was the dinosaur from Nova Scotia walking, jogging, or running?
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Was the dinosaur from the trackway you made running?

Footprint length Multiplied times 4 Equals the Hip Height

X4

Stride length Hip Height Equals Ratio

Was your dinosaur from the trackway you made walking, jogging, or running?

Part of activity modified from Beneski Museum of Natural History activity, Dinosaur Footprints.
Visit amherst.edu/museums/naturalhistory for more activities.
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